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Question Number : 1 Question Id : 1908897222 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Agricultural and allied sector activities account for percent of the country’s
gross value added (GVA) for the year 2019-20 (at current price).

21.3
135
11.9
{38
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Options :

19088928781. 1
19088928782. 2
19088928783. 3

19088928784. 4

Question Number : 2 Question Id : 1908897223 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Who provides the necessary government linkages for coordinating, guiding. and managing
research and education in agriculture in India?

IARI
ICAR
DARE
NASC

T N e

Options :

19088928785. 1
19088928786. 2
19088928787. 3

19088928788. 4

Question Number : 3 Question Id : 1908897224 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The physical environment of soil does not include:

1. Soil air
2. Soil water
3. Concentration of nutrients (ninerals)
4. Soil temperature
Options :

19088928789. 1
19088928790. 2
19088928791. 3
19088928792. 4

Question Number : 4 Question Id : 1908897225 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which 1s the largest source of irrigation in India?

1. Canal

2. Tube well

3. Tanks

4. Open well
Options :

19088928793. 1
19088928794. 2
19088928795. 3

19088928796. 4

Question Number : 5 Question Id : 1908897226 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which nutrient i1s essential for growth. cell division. root lengthening, seed and fruit
development and early ripening?

1. Nitrogen

2. Phosphorus
3. Potassium
4. Calcium

Options:

19088928797. 1
19088928798. 2
19088928799. 3
19088928800. 4

Question Number : 6 Question Id : 1908897227 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Name the disease that is characterized by spores that accumulate in soot like masses (a deep
black powdery or flaky substance) in seeds. leaves, stems, flower parts and bulbs.

Smut
Mildew
Rust
Spots
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Options :

19088928801. 1
19088928802. 2
19088928803. 3
19088928804. 4

Question Number : 7 Question Id : 1908897228 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In which method of rice sowing transplanting of young seedlings, usually 8-12 days old. 15
done?

Direct seeded rice

Aerobic rice

Conventional rice cultivation
System of rice cultivation
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Options :

19088928805. 1
19088928806. 2
19088928807. 3

19088928808. 4

Question Number : 8 Question Id : 1908897229 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 15 true about agro-biodiversity?

1. Itis a product of integration among genetic resources. environment. management
system and farmers practices.
2. Agro-biodiversity 1s unaffected by abiotic stresses.
3. The term agro-biodiversity excludes the underground soil biodiversity.
4. Agro-diversity enhances only the production of food crops.
Options :
19088928809. 1
19088928810. 2
19088928811. 3

19088928812. 4

Question Number : 9 Question Id : 1908897230 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a non-probability sampling?

1. Random sampling

2. Convenience sampling

3. Stratified sampling

4. Multistage sampling
Options :

19088928813. 1
19088928814. 2
19088928815. 3

19088928816. 4

Question Number : 10 Question Id : 1908897231 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following enzymes has the reaction of catalyzing oxidation and reducing
reaction?

Ligases
Transferences
Oxidoreductases
Hydrolases

dm a2 e

Options :

19088928817. 1
19088928818. 2
19088928819. 3

19088928820. 4

Question Number : 11 Question Id : 1908897232 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Quality of protein in the Indian Diet can be improved by:

1. Gelation
2. Emulsification
3. Pasteurization

o |

Mutual Supplementation

Options :

19088928821. 1
19088928822. 2
19088928823. 3

19088928824. 4

Question Number : 12 Question Id : 1908897233 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Recommendations for fibre intake in our diet 1s based on the intake of:

1. Energy

2. Protein

3. Fat

4. Vitamin
Options :

19088928825. 1
19088928826. 2
19088928827. 3

19088928828. 4

Question Number : 13 Question Id : 1908897234 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The highest continuing level of daily nutrient intake that is likely to pose no risk of adverse
health effects in almost all individuals, n the specified life stage group 1s called:

Estimated Average Requirement (EAR)
Tolerable Upper Level (TUL)
Recommended Dietary Allowances (RDA)
Adequate Intake (AI)
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Options :

19088928829. 1
19088928830. 2
19088928831. 3

19088928832. 4

Question Number : 14 Question Id : 1908897235 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



As per ICMR (2020) guidelines, body weight (kg) of ‘Reference Man’ and ‘Reference
Woman’ is:

55 and 50
60 and 55
65 and 55
70 and 60

B N e

Options :

19088928833. 1
19088928834. 2
19088928835. 3

19088928836. 4

Question Number : 15 Question Id : 1908897236 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The most recent flagship programme of Government of India to improve nutritional status of
children. adolescent and pregnant woman 1s:

ICDS

Janam Suraksha Yona (JSY)

Janani Shishu Suraksha Karyakaram (JSSK)
Poshan Abhiyan

e s bl

Options :

19088928837. 1
19088928838. 2
19088928839. 3

19088928840. 4

Question Number : 16 Question Id : 1908897237 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ropiness in pasteurized milk/curd 1s caused by which of the following microorganism?

Streptococeus fecalis

bt et

Pseudomonas
Alecaligenes
Lactobacilli

e

Options :

19088928841. 1
19088928842. 2
19088928843. 3
19088928844. 4

Question Number : 17 Question Id : 1908897238 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following food service system 1s characterized by centralized production, with
distribution of prepared menu items to several remote areas for service?

Conventional
Commissary
Ready Prepared
Assembly/Serve

B o

Options :

19088928845. 1
19088928846. 2
19088928847. 3

19088928848. 4

Question Number : 18 Question Id : 1908897239 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The recommended dose of zine (mg) supplement in children to reduce severity of diarrhea is:

20
25
30
40

e a0 b

Options :

19088928849. 1
19088928850. 2
19088928851. 3
19088928852. 4

Question Number : 19 Question Id : 1908897240 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Maternal height of less than cm s a risk factor for low birth weight and mortality
among mfants

150
153
3. 160
4. 147
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Options :

19088928853. 1
19088928854, 2
19088928855. 3
19088928856. 4

Question Number : 20 Question Id : 1908897241 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



When milk is heated, the development of brown colour is due to non-enzymatic browning
called?

Malting reaction
Maillard reaction
Gelatinisation reaction
Dextrinisation reaction

TN R

Options :

19088928857. 1
19088928858. 2
19088928859. 3

19088928860. 4

Question Number : 21 Question Id : 1908897242 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Under the Pradhan Mantri Matru Vandana Yojna. cash incentive of Rs.5000/- 1s provided to
pregnant and lactating mothers for:

Two living children
First living child

All living children
Three hiving children

b =
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Options :

19088928861. 1
19088928862. 2
19088928863. 3

19088928864. 4

Question Number : 22 Question Id : 1908897243 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following worker 1s NOT associated with the ICDS?

1. Auxillary Nurse Midwife

2. Anganwadi Worker

3. Balsevika

4. Accredited Social Health Activist
Options :

19088928865. 1
19088928866. 2
19088928867. 3

19088928868. 4

Question Number : 23 Question Id : 1908897244 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The concept of Zone of Proximal Development has been provided by:

1. Piaget

2. Vygotsky

3. Bruner

4. Bandura
Options :

19088928869. 1
19088928870. 2
19088928871. 3

19088928872. 4

Question Number : 24 Question Id : 1908897245 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A dialogue conducted in a flexible conversational style to probe the child’s point of view
about a particular event/ phenomenon is called:

Structured Interview
Clinical Interview
Structured Observation
Conversation

| S
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Options :

19088928873. 1
19088928874. 2
19088928875. 3

19088928876. 4

Question Number : 25 Question Id : 1908897246 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a feature of pre-conventional morality?

Rules are seen as fixed and unchangeable

Rules are obeyed to avoid punishment

Actions are judged as good or bad based on outcomes

Actions are judged as good or bad based on intention to do harm

L S
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Options :

19088928877. 1
19088928878. 2
19088928879. 3

19088928880. 4

Question Number : 26 Question Id : 1908897247 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Assessment of neo-natal reflexes helps to determine:

1. Intelligence Quotient

2. Neurological difficulties
Newborn’s attachment with mother
Low birth weight infants

P

Options :

19088928881. 1
19088928882. 2
19088928883. 3

19088928884. 4

Question Number : 27 Question Id : 1908897248 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 1deal medium of instruction to provide preschool education i1s:

1. Regional language

2. Mother tongue

3. English

4. Any language
Options:

19088928885. 1
19088928886. 2
19088928887. 3
19088928888. 4

Question Number : 28 Question Id : 1908897249 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



During adolescence. the social behavior ‘imaginary audience’ reflects:

1. Psychosis

2. Scaffolding

3. Egocentrism

4. Dramatization
Options :

19088928889. 1
19088928890. 2
19088928891. 3

19088928892. 4

Question Number : 29 Question Id : 1908897250 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A one-and —a half year old child uses the word ‘car’ to refer to cars. buses and trucks. This 1s
an example of:

Under extension
Telegraphic speech
Delayed speech
Over extension

o
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Options :

19088928893. 1
19088928894. 2
19088928895. 3

19088928896. 4

Question Number : 30 Question Id : 1908897251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Peer conformity assumes greatest significance during:

Early adulthood
Adolescence
Middle childhood
Late adulthood

bl
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Options :

19088928897. 1
19088928898. 2
19088928899. 3

19088928900. 4

Question Number : 31 Question Id : 1908897252 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT an embroidery?

1. Phulkan

2. Chikarkan
3. Kantha

4. Kalam kan

Options :

19088928901. 1
19088928902. 2
19088928903. 3

19088928904. 4

Question Number : 32 Question Id : 1908897253 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following fibers 1s a protein fiber?

Vicuna
Sisal
Kapok
Saran

b
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Options :

19088928905. 1
19088928906. 2
19088928907. 3
19088928908. 4

Question Number : 33 Question Id : 1908897254 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the tollowing fabrics require unidirectional layout of pattern pieces?

1. Satin

2. Sheers
Ginghams
Rayons

B ow

Options :

19088928909. 1
19088928910. 2
19088928911. 3
19088928912. 4

Question Number : 34 Question Id : 1908897255 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following allows the bobbin to be fitted in the oscillating hook?

Face plate
Throat plate
Shide plate
Spool pin

LI S ]
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Options :

19088928913. 1
19088928914. 2
19088928915. 3

19088928916. 4

Question Number : 35 Question Id : 1908897256 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For stitching heavy upholstery fabrics or canvas which number of sewing machine needle
will you use?

11
14
16
18

e L BD

Options:

19088928917. 1
19088928918. 2
19088928919. 3

19088928920. 4

Question Number : 36 Question Id : 1908897257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For a 5" thick mattress, the allowance for tucking in the sheet at each of the ends would be:

- s

[

-

10"

oo

Options :

19088928921. 1
19088928922. 2
19088928923. 3

19088928924. 4

Question Number : 37 Question Id : 1908897258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Intensity or brightness of the colour depends on the presence of:

Chromophore
Auxochrome
Mordants
Pigments

b
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Options:

19088928925. 1
19088928926. 2
19088928927. 3
19088928928. 4

Question Number : 38 Question Id : 1908897259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Styles of printing include:

1. Transfer. block. roller

2. Cross dyed. union dyed. polychromatic

3. Durect, resist, discharge

4. Batik, automatic screen. transfer
Options :

19088928929. 1
19088928930. 2
19088928931. 3
19088928932. 4

Question Number : 39 Question Id : 1908897260 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the colour problems create horizontal off shade band across fabric?

1. Tendering

2. Metamerism

3. Frosting

4. Barre'
Options :

19088928933. 1
19088928934. 2
19088928935. 3

19088928936. 4

Question Number : 40 Question Id : 1908897261 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



To give the visual effect of height to your sister, which of the following design features will
you incorporate in her clothing?

Stove pipe pants
Square neck line
Chokers

Patch pockets

e o D

Options :

19088928937. 1
19088928938. 2
19088928939. 3

19088928940. 4

Question Number : 41 Question Id : 1908897262 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Resources are defined as:

Resources that are under direct control of an individual, fanuly or community
Material & human attributes that satisty one’s wants

Feelings & opinions pertaining to a resource (material or personal)
Resources that serve as a source of strength and stability in a given situation

|

bt

Options :

19088928941. 1
19088928942. 2
19088928943. 3

19088928944. 4

Question Number : 42 Question Id : 1908897263 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The term B.O.S. refers to:

Basics of system
Body of sensations
Basics of skills
Base of support

| ]
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Options :

19088928945. 1
19088928946. 2
19088928947. 3

19088928948. 4

Question Number : 43 Question Id : 1908897264 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the early writers on Management proposed Neo-Classical Management Theory?

Max Weber

Elton Mayo

3. F.W. Taylor

4. Abraham H. Maslow

b —

Options :

19088928949. 1
19088928950. 2
19088928951. 3

19088928952. 4

Question Number : 44 Question Id : 1908897265 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s part of Productive Income?

Community Facilities & Services
Employment Benefits

Talents. Skills & Abilities

Durable Goods (eg. TV. Refrigerator. etc.)

| S
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Options :

19088928953. 1
19088928954. 2
19088928955. 3

19088928956. 4

Question Number : 45 Question Id : 1908897266 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gantt Chart 1s useful n:

1. Preparing a ‘to-do-list’
2. Determining priority for completing tasks
3. Evaluating use of time with respect to the scheduled time plan
4. Estimating the time required for each task
Options :

19088928957. 1
19088928958. 2
19088928959. 3
19088928960. 4

Question Number : 46 Question Id : 1908897267 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consumer Right is defined as:

1. Rught for redressal on account of defective products

2. Right to information about quality. potency. purity. price & standard of goods &
services

3. Right to represent consumer interest

4. Right for availability to essential goods & services

Options :

19088928961. 1
19088928962. 2
19088928963. 3

19088928964. 4

Question Number : 47 Question Id : 1908897268 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the expansion of the acronym N.B.C.?

1. National Building Construction
2. National Buildings Congress

3. National Block Construction

4. National Building Code

Options :

19088928965. 1
19088928966. 2
19088928967. 3

19088928968. 4

Question Number : 48 Question Id : 1908897269 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Management 1s an integrated process. because:

1. It involves interactions among people

2. It brings human. physical & financial resources together

3. It continuously identifies & solves problems

4. Managerial functions are contained within each other
Options:

19088928969. 1
19088928970. 2
19088928971. 3

19088928972. 4

Question Number : 49 Question Id : 1908897270 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following soft flooring material 1s best suited for abrasion resistance and
cleanability?

1. Cotton
2. Jute
3. Nylon
4. Coir

Options :

19088928973. 1
19088928974. 2
19088928975. 3

19088928976. 4

Question Number : 50 Question Id : 1908897271 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ancient pyramids are examples of:

1. Structural Design

2. Decorative Design

3. Textured Design

4. Utilitarian Design
Options :

19088928977. 1
19088928978. 2
19088928979. 3

19088928980. 4

Question Number : 51 Question Id : 1908897272 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the well known crusaders of 'chipko movement' 1s-

1. Anna Hazare

2. Vinoba Bhave

3. Rajender Singh
Sundarlal Bahuguna

o

Options:

19088928981. 1
19088928982. 2
19088928983. 3
19088928984. 4

Question Number : 52 Question Id : 1908897273 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following i1s time-related participatory learning and action technique used
for Need Assessment?

Venn Diagram
Resource Map
Seasonal Diagram
Wealth Ranking

e L D

Options:

19088928985. 1
19088928986. 2
19088928987. 3

19088928988. 4

Question Number : 53 Question Id : 1908897274 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who among the following 1s a well-known activist for Gender Equality?

1. Sheela Mohanty

2. P.Rajkumari

3. Satyawati Phule

4. Kamla Bhasin
Options :

19088928989. 1
19088928990. 2
19088928991. 3

19088928992. 4

Question Number : 54 Question Id : 1908897275 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The process of assessing the progress of a project based on pre-determined indicators and
objectives of the programme 15 called:

Planning
Executing
Implementing
Evaluating

S I I

Options :

19088928993. 1
19088928994. 2
19088928995. 3

19088928996. 4

Question Number : 55 Question Id : 1908897276 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The concept of Development communication that 1t 1s NOT just dissenunation of mformation
but understanding its reception and utilization by the users, was given by:

Devesh Kishore
Nora Quebral

3. Robert Chambers
4. Neela Mukherjee

b

Options :

19088928997. 1
19088928998. 2
19088928999. 3

19088929000. 4

Question Number : 56 Question Id : 1908897277 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



National Rural Livelihood Mission was launched 1n the year?

1. 2001
2. 2011
3. 2016
4. 2020
Options:

19088929001. 1
19088929002. 2
19088929003. 3
19088929004. 4

Question Number : 57 Question Id : 1908897278 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who among the following 1s acknowledged as father of extension work in USA for his
proneering work on setting up 'Demonstration farms'?

Seaman A. Knapp
Leonard Elmhirst
Spencer Hatch

[ I

o

Paul Leagans
Options:
19088929005. 1
19088929006. 2
19088929007. 3
19088929008. 4

Question Number : 58 Question Id : 1908897279 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



People who regulate the content in mass communication are called-

1. Viewers

2. Critics

3. Gate keepers

4. Sponsors
Options :

19088929009. 1
19088929010. 2
19088929011. 3

19088929012. 4

Question Number : 59 Question Id : 1908897280 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The Diffusion of Innovation concept was proposed by-

1. Aristotle

2. Ensminger

3. Evrett Rogers

4. Wilbur Shramm
Options :

19088929013. 1
19088929014. 2
19088929015. 3

19088929016. 4

Question Number : 60 Question Id : 1908897281 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Dyadoc communication 1s a type of:

1. Intrapersonal communication

2. Interpersonal communication

3. Mass communication

4. Intercultural communication
Options :

19088929017. 1
19088929018. 2
19088929019. 3
19088929020. 4

Question Number : 61 Question Id : 1908897282 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What are the components of Pradhan Mantri Kisan SAMPADA Yojana (PMKSY)?

A. Cold chain and value addition infrastructure

B. Crop msurance

C. Operation Green

D. Farm credit

Choose the correct answer from the options given below:
1. A.BandC only

2. AandC only

B and D only
A. Cand D only

o

Options :

19088929021. 1
19088929022. 2
19088929023. 3

19088929024. 4

Question Number : 62 Question Id : 1908897283 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which irrigation method applies water in the form of rain water?
A. Surface

B. Sub surface

C. Sprinkler

D. Drip

Choose the correct answer from the options given below:

1. A andB only
. oy
3. Donly

4. Cand D only

Options :

19088929025. 1
19088929026. 2
19088929027. 3

19088929028. 4

Question Number : 63 Question Id : 1908897284 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which statement 15 correct about cultivation of groundnut erop?
A. A temperature of 25-30°C appears to be optimum for growth and flower production,
B. Seed rate for spreading types vary from 100-150 kg/ha.

C. Same dose of phosphorus fertilizers 1s recommended under rain-fed and irrigated
conditions

D. Weeds cause enormous yield losses owing to their slow growth and short stature

Choose the correct answer from the options given below:

A and D only
B and C only

A and C only
B and D only
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Options :

19088929029. 1
19088929030. 2
19088929031. 3

19088929032. 4

Question Number : 64 Question Id : 1908897285 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the system of sugarcane planting?
A. Flat system

B. Trench system

C. Pit system

D. Layering system

Choose the correct answer from the options given below:

1. A andB only
2. BandC only
3. CandD only
4. A.BandC only



Options :

19088929033. 1
19088929034. 2
19088929035. 3
19088929036. 4

Question Number : 65 Question Id : 1908897286 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Pest and disease management practices under organic farming include:
A. Fertile so1l of high biological activity

B. Minimum amount of pesticide application

C. Protection of natural enemies of pests through habitat management
D. Disrupting the ecological needs of pests

Choose the correct answer from the options given below:

1. A.B andC only

2. B.CandD only

3. A.CandD only

4. A.B and D only
Options :

19088929037. 1
19088929038. 2
19088929039. 3

19088929040. 4

Question Number : 66 Question Id : 1908897287 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Major source of trans-fatty acids in the human diet are:
A, Milk and milk products

B. Baked products

C. Deep fried snacks

D. Nuts and Oilseeds

E. Ready-to-cat foods

Choose the correct answer from the options given below:
A, B and C only

B. C and D only

C.D and E only
B. C and E only

| ]
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Options :

19088929041. 1
19088929042. 2
19088929043. 3

19088929044. 4

Question Number : 67 Question Id : 1908897288 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Indirect Methods for assessment of nutritional status of population groups include:
A Dietary Assessment

B. Nutritional Anthropometry

C. Mortality Rate

D. Ecological Factors

E. Morbidity Rate

Choose the correct answer from the options given below:

A, B and C only

B. C and D only

3. C.DandE only
4. A.CandE only

bt

Options :

19088929045. 1
19088929046. 2
19088929047. 3

19088929048. 4

Question Number : 68 Question Id : 1908897289 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Enteral nutrition 1s a method of providing adequate nutrition via which of the following
routes?

A. Transoral

B. Transanal

C. Transgastric

D. Intravenous

E. Hyperalimentation

Choose the correct answer from the options given below:

1. A, BandC only
2. B,CandD only
3. C.DandE only
4. A, CandD only

Options :

19088929049. 1
19088929050. 2
19088929051. 3
19088929052. 4

Question Number : 69 Question Id : 1908897290 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s not a good source of n-3 fatty acid?
A. Mustard O1l

B. Fich O1l

C. Sunflower O1l

D. Olive O1l

E. Groundnut Oil

Choose the correct answer from the options given below:

A.Band C only
B. C and D only

| S

3. C,D andE only
4. A.CandE only
Options :

19088929053. 1
19088929054. 2
19088929055. 3
19088929056. 4

Question Number : 70 Question Id : 1908897291 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a dry heat method of cooking?
A. Baking

B. Poaching

C. Stewing

D. Blanching

E. Sauteing

Choose the correct answer from the options given below:

1. A.BandC only

2. B.C and D only

3. C.DandE only

4. A.CandE only
Options :

19088929057. 1
19088929058. 2
19088929059. 3
19088929060. 4

Question Number : 71 Question Id : 1908897292 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following are features of authoritative parenting?
A. Emotionally fulfilling parent-child relationships

B. Firm and reasonable control

C. Over indulgence

D. Unquestioning obedience

E. Providing reasons for expectations

Choose the correct answer from the options given below:

1. A.BandC only

2. A.BandD only

3. A.BandE only

4. B.D and E only
Options :

19088929061. 1
19088929062. 2
19088929063. 3

19088929064. 4

Question Number : 72 Question Id : 1908897293 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Who among the following theorists view the child as an active participant in the learning
process”?

A. Skinner

B. Freud

C. Piaget

D. Vygotsky

E. Bronfenbenner

Choose the correct answer from the options given below:

. B.Cand D only
. Band C only

1

2

3. CandD only

4. A CandD only

Options :

19088929065. 1
19088929066. 2
19088929067. 3
19088929068. 4

Question Number : 73 Question Id : 1908897294 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s NOT an example of representational thinking?
A. Drawing

B. Make believe play

C. Animism

D. Egocentrism

E. Deferred imitation

Choose the correct answer from the options given below:

1. A.B andE only

2. DandE only

3. B.DandE only

4. Cand D only
Options :

19088929069. 1
19088929070. 2
19088929071. 3
19088929072. 4

Question Number : 74 Question Id : 1908897295 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following abilities emerge during the first year of life?
A. Stands independently

B. Speaks two word sentences

C. Locates hidden object

D. Grasps a block

E. Social smule

Choose the correct answer from the options given below:

1. ALB.C.DandE

2. A.B.Cand D only

3. A CandD only

4. A.C.DandE only
Options :

19088929073. 1
19088929074. 2
19088929075. 3
19088929076. 4

Question Number : 75 Question Id : 1908897296 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following play activities will foster social development in preschool children?
A. Playing together on the shde
B. Putting beads in a string
C. Walkmg on a straight line drawn on the floor
D. Listening to a story
E. Role play
Choose the correct answer from the options given below:
1. A CandD only
2. A, DandE only

D and E only
B.D and E only

N =N %]

Options :

19088929077. 1
19088929078. 2
19088929079. 3

19088929080. 4

Question Number : 76 Question Id : 1908897297 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following fibers have leaf as their source?
A Sisal
B. Plax
C. Pina

D. Kapok

Choose the correct answer from the options given below:

1. A andB only
2. Band C only
3. Aand C only
4. C and D only

Options :

19088929081. 1
19088929082. 2
19088929083. 3

19088929084. 4

Question Number : 77 Question Id : 1908897298 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following are variety of Kashido stitches?
A. Zalakdoz
B. Rafuqan
C. Bagh
D. Vata-chikan

Choose the correct answer from the options given below:

1. A.BandC only
2. B.CandD only
3. A.BandDonly
4. A.CandD only



Options :

19088929085. 1
19088929086. 2
19088929087. 3
19088929088. 4

Question Number : 78 Question Id : 1908897299 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following fabrics are warp knits?
A. Milanese
B. Tricot
C. Jacguard knits
D. Jersey knits
E. Raschel

Choose the correct answer from the options given below:

A.B and C only
B. C and D only
C.D and E only
4. A.BandE only
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Options :

19088929089. 1
19088929090. 2
19088929091. 3

19088929092. 4

Question Number : 79 Question Id : 1908897300 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following fabrics have plain weave?
A. Shantung

B. Calico

C. Percale

D. Chino

E. Serge

Choose the correct answer from the options given below:

1. A.B and C only
2. B.CandD only
3. C.DandE only

4. A.D and E only

Options :

19088929093. 1
19088929094. 2
19088929095. 3

19088929096. 4

Question Number : 80 Question Id : 1908897301 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following finishes are used for cotton fabric preparation?
A. Carbonizing

B. Scouring

C. Crabbing

D. Singeing

E. Mercerizing

Choose the correct answer from the options given below:

1. A.B andC only
2. B.CandD only
3. A.DandE only
4. B.D and E only

Options :

19088929097. 1
19088929098. 2
19088929099. 3
19088929100. 4

Question Number : 81 Question Id : 1908897302 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Considerations for maintaining stability in Center of Gravity are:

A. Carry load close to the body

B. To lift load from the ground, bend knees and hip muscles while keeping back straight
C. For pushing load, apply force away from the center of gravity

D. To lift load from the ground. bend back and hip muscles while keeping knees straight
E. For pushing load. apply force at the center of gravity

Choose the correct answer from the options given below:

1. A.BandC only
2. A BandD only
3. C.DandE only
4. A BandE only

Options :

19088929101. 1
19088929102. 2
19088929103. 3

19088929104. 4

Question Number : 82 Question Id : 1908897303 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s not Real Income?
A. Microwave Oven

B. Gift Cheque

C. Interest from Savings

D. Personal Car

E. Personal Washing Machine

Choose the correct answer from the options given below:

A.B and C only
A.Band D only
C.D and E only
4. A.DandE only

LI S

Options :

19088929105. 1
19088929106. 2
19088929107. 3
19088929108. 4

Question Number : 83 Question Id : 1908897304 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which among the following provide effective rest periods to the worker:

A, Starting the work carly

B. Working fast

C. Eliminating tasks

D. Delegating partial or whole tasks to others

E. Completing regular tasks beforchand to generate more time for peak load activities
Choose the correct answer from the options given below:

A B and C only

. A.DandE only

. C.DandE only
A.Band E only
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Options :

19088929109. 1
19088929110. 2
19088929111. 3

19088929112. 4

Question Number : 84 Question Id : 1908897305 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consumer Protection Act 2019 extends the following benefits to the consumer:
A Defect in a good or deficiency in service

B. Product liability claim

C. Deficiency in Marketing

D. Consumer dispute redressal commission operates at district/state/national/supreme court
level

E.Consumer dispute redressal commission operates at district/state/national level

Choose the correct answer from the options given below:

1. A.BandC only
2. A BandD only
3. C,DandE only
A.Band E only

o

Options :

19088929113. 1
19088929114. 2
19088929115. 3
19088929116. 4

Question Number : 85 Question Id : 1908897306 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following are types of area rugs:
A. Accent Rugs

B. Carpets Tiles

C. Art Rug

D. Scatter Rugs

E. Rubber Tiles

Choose the correct answer from the options given below:

1. A.BandC only

2. A CandD only

3. C,D andE only

4, A.BandE only
Options :

19088929117. 1
19088929118. 2
19088929119. 3
19088929120. 4

Question Number : 86 Question Id : 1908897307 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The Human Resource Development approach to extension work includes-
A. Mobilization

B. Orgamisation

C. Tramning

D. Technological support

E. Management by proxy

Choose the correct answer from the options given below

A.B.D and E only
A.C.D and E only
A.B.C and D only
B. C.D and E only

Ja L ba -

Options :

19088929121. 1
19088929122. 2
19088929123. 3
19088929124. 4

Question Number : 87 Question Id : 1908897308 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An appropriate training programime requires :

A. Relating the content to the need of extension workers
B. Three days of orientation

C. Teaching of manual skills

D. Two days of terminal evaluation

E. Developing desirable attitudes

Choose the correct answer from the options given below:

1. A.BandC only

2. B.CandD only

3. A.BandD only

4. A.CandE only
Options :

19088929125. 1
19088929126. 2
19088929127. 3
19088929128. 4

Question Number : 88 Question Id : 1908897309 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following are the qualities of a successtul entrepreneur?
A. Self Relant

B. Self Indulgent

C. Willing to take risks

D. Thrives on competition

E. Avoids competition

Choose the correct answer from the options given below:

1. A.BandC only
2. B.C and D only
3. A . CandD only
4., B.C and E only

Options :

19088929129. 1
19088929130. 2
19088929131. 3

19088929132. 4

Question Number : 89 Question Id : 1908897310 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The Principles of Extension Programme Planning include-
A. Principle of needs and interests

B. Principle of individual approach

C. Principle of cooperation and participation

D. Principle of cultural change

E. Principle of learning by doing

Choose the correct answer from the options given below:

1. A B.CandD only

2. B.C,D andE only

3. A.B.C andE only

4. A.C.DandE only
Options :

19088929133. 1
19088929134. 2
19088929135. 3
19088929136. 4

Question Number : 90 Question Id : 1908897311 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Method demonstration is appropriate-

A. To show working of new instruments

B. To show new skills in practice

C. When no comparison 1s required

D. When comparison with old practice 1s required
E. To show the end results

Choose the correct answer from the options given below:

1. A.BandE only
2. A BandD only
3. B.CandD only
4. A.BandC only

Options :

19088929137. 1
19088929138. 2
19088929139. 3

19088929140. 4

Question Number : 91 Question Id : 1908897312 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I .
List II
Nutrients Deficiency symptoms
A. Nitrogen L. Bluish-green to radish colour leaves

I1. Small. distorted. cup-shaped. crinkled and

B. Phosphorus
! dark green leaves

C. Potassium I Yellowing or chlorosis of leaves

\ At IV. Slow and stunted growth of plants and
D. Caleium . Z
weak stalk

Choose the correct answer from the options given below:

A-LB-IOLC-IV.D-II
A-NMLB-LC-IL.D-IV
A-NMLB-LC-IV.D-II
A-IV.B-ILC-IILD-I

[ e R

Options:

19088929141. 1
19088929142. 2
19088929143. 3

19088929144. 4

Question Number : 92 Question Id : 1908897313 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

.Crup Scientific name

A. Rice I. Cicer aretinum

B. Wheat IT. Arachis hypogaea

C. Chickpea IIL Triticum vulgare

D. Sugarcane IV. Saccharum officinarum
E. Groundnut V. Oryza sativa

Choose the correct answer from the options given below:

1. A-IILB-LC-IV.,D-V,E-TI
2. A-IIILB-1.C-NI.D-V,E-IV
3. A-V.B-IIILC-LD-IV.E-II
4 A-LB-INI.C-IILD-V.E-IV

Options :

19088929145. 1
19088929146. 2
19088929147. 3

19088929148. 4

Question Number : 93 Question Id : 1908897314 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : No Is



Match List I with List IT

ListI List IT

A. Vegetables become olive green on cooking |I. Toughness of meat

B. Cooked Flavour in milk I1. Frozen and Thawed

C. Cold Shortening III1. Bean-like. buttery aroma linked with ol
D. Egg white gelation IV. Phephytin

E. Reversion Flavour V. Sulphydrul compounds

Choose the correct answer from the options given below:

A-IV.B-V.C-ILD-ILE-II
A-ILB-IV.C-LLD-IILE-V
A-TILB-I.C-V.D-IV.E-II
A-V.B-IILC-ILD-LE-IV
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Options:

19088929149. 1
19088929150. 2
19088929151. 3
19088929152. 4

Question Number : 94 Question Id : 1908897315 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

Age Group Iron requirement (mg/d in terms of EAR)
A. 13 -15 year old girl L6

B. 7 - 9 year old girl iL.17

C. 1 -3 year old girl I0T. 18

D. 25 year old sedentary woman(IV. 10

E. 16 — 17 year old girl V. 11

Choose the correct answer from the options given below:

A-IV.B-V.C-I.D-ILE-III
A-IILB-IV.C-IILLD-LE-V
A-IILB-IV,C-1.D-V,.E-III
A-V.B-III.C-II.D-IV.E-I

N FUR S

Options :

19088929153. 1
19088929154. 2
19088929155. 3

19088929156. 4

Question Number : 95 Question Id : 1908897316 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

A. Two word utterances |I. Cephalo-caudal
B. Motor Development  |II. 1-3 Years

C. Walking independently |III. 18-24 months
D. Autonomy IV. 9-17 months

Choose the correct answer from the options given below:

A-IV.B-1.C-III.D-1I
A-IMM.B-I.C-IV,D-1I
A-LB-IMMI.C-1IV.D-II
A-TII.B-II.C-IV,D-1
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Options :

19088929157. 1
19088929158. 2
19088929159. 3
19088929160. 4

Question Number : 96 Question Id : 1908897317 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

ListI List II

A. Vygotsky I. Family life cycle
B. Unattached adult |II. Adolescence

C. Peers I1I. Erikson

D. Identity confusion |IV. Scatfolding

Choose the correct answer from the options given below:

1. A-IV.B-III. C-II.D -1
2. A-IILLB-LC-IV.D-1I

3. A-IV.B-1.C-II.D-1III
4. A-II.B-1L.C-IV.D-1III
Options :

19088929161. 1
19088929162. 2
19088929163. 3
19088929164. 4

Question Number : 97 Question Id : 1908897318 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II

Finishes .Purpﬂse

A. Cire' 1. Alters durability

B. Parchmentizing |II. Alters texture

C. Plisse’ TI1. Alters fabric hand and drape _.

D. Slip resistant IV. Alters lustre

Choose the correct answer from the options given below:

1. A-II.B-L.C-IV.D-III
2. A-LB-TMM.C-IILD-1IV

3. A-IIILB-IV.C-1.D-II
4. A-IV.B-III.C-II.D-I
Options :

19088929165. 1
19088929166. 2
19088929167. 3

19088929168. 4

Question Number : 98 Question Id : 1908897319 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
Embroidery Design articles

'A. Chamba Rumals I. Chenar leaf

iB. Katiawar II. Panna Hazar -
IC. Jamdam III. Chokla
[D. Kashida IV. Krishan Lila

Choose the correct answer from the options given below:

A-IV.B-III.LC-IL.D-1I
A-IIILB-II.C-L.D-1IV
A-ILB-NILC-IL.D-IV
A-ILB-IILC-IV.D-1II
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Options :

19088929169. 1
19088929170. 2
19088929171. 3
19088929172. 4

Question Number : 99 Question Id : 1908897320 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

ListI List IT
A MKS I. Ratio of constructed area to the plot on subsequent floors
. 11. Ratio of effective height of the building divided by the
B.FPsS. : .
effective thickness of wall
C.FAR I, System of measurement used in England

IV. System of measurement used m United States of Amenica.

D. Slend Rati
enderness Ratio Europe & France

Choose the correct answer from the options given below:

A-LB-NIL.C-IL.D-IV
A-TLB-IV.C-LD-III
A-IV.B-TIILLC-1LD-II
A-TLB-ILC-1L.D-IV
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Options :

19088929173. 1
19088929174. 2
19088929175. 3

19088929176. 4

Question Number : 100 Question Id : 1908897321 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I ListII

L. Acquire knowledge & skills needed to make

A. Right for Redressal . e
' & informed choices

B. Right to be Informed IL. Facts needed to make informed choices

C. Right to Consumer Education [II. Receive a fair settlement of claims

IV. Ability to select from among a range of

D. Right to Choose : iiF : ;
5 iproducts & services at competitive price & quality

Choose the correct answer from the options given below:

1. A-LB-TILC-II.D-IV
2. A-NLLB-IV.C-1LD-II
3. A-IV,B-IIILC-LD-II
4 A-LB-TILC-IV.D-I

Options :

19088929177. 1
19088929178. 2
19088929179. 3
19088929180. 4

Question Number : 101 Question Id : 1908897322 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

.Prﬂgramlne Focus area for developmeutﬂ
A.NHM 1. Wa ge employment .I
B. MGNREGA L Self employment

C.SSA TII. Health

:D. NRLM .1"5.-’. Education

Choose the correct answer from the options given below:

A-IB-II.LC-III.D-1IV
A-II.B-NI.C-IV.D-1I
A-MM.B-IL.C-IV.D-1II
A-IV.B-ILC-III.D-II

| ]
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Options :

19088929181. 1
19088929182. 2
19088929183. 3
19088929184. 4

Question Number : 102 Question Id : 1908897323 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

A. First-Generation Media |L TV, language laboratories

:fE. Second-Generation Media II. Film strips. recordings

C. Third-Generation Media |IIL. Handmade charts and graphs
D. Fourth-Generation Media |IV. Printed Tllustrated text |

Choose the correct answer from the options given below:

1. A-LB-IILC-IMILD-1IV
2. A-ILB-II,C-1IV.D-1
3. A-IILB-1IV,C-II,D-1
4. A-IV,B-LC-IILD-III

Options :



19088929185. 1
19088929186. 2
19088929187. 3

19088929188. 4

Question Number : 103 Question Id : 1908897324 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements

Statement I: The parent material of alluvial so1ls 1s of recent origin and has been derived
trom the deposition of erosion products brought and laid down by various river systems.

Statement II: Alluvial soils. in general. are variable in texture depending on the source of
parent materials and place of deposition.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s ncorrect
Statement I 1s incorrect but Statement IT 15 correct

e o b

Options :

19088929189. 1
19088929190. 2
19088929191. 3

19088929192. 4

Question Number : 104 Question Id : 1908897325 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Performs research on species in their natural habitat,
Statement IT: Cryo bank is an example of In-situ conservation.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are ncorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s mcorrect but Statement IT 1s correct

[

I

Options :

19088929193. 1
19088929194. 2
19088929195. 3

19088929196. 4

Question Number : 105 Question Id : 1908897326 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: Folic Acid helps i reducing the risk of heart disease and stroke
Statement II: Folic Acid forms methionime by utilizing homocysteine
In light of the above statements, choose the correct answer from the options given below
Both Statement I and Statement II are true
Both Statement I and Statement 1T are false

Statement I 1s true but Statement I 1s false
Statement I 1s false but Statement I1 1s true

L b

s

Options :

19088929197. 1
19088929198. 2
19088929199. 3

19088929200. 4



Question Number : 106 Question Id : 1908897327 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Grven below are two statements

Statement I: Probiotics are non-digestible food ingredients that beneficially affect the host
by selectively stimulating the activity of one or a limited number of bacteria in the colon

Statement II: Probiotics ferment 1n the colon

In light of the above statements. choose the correct answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement II are false
Statement I 1s true but Statement IT 1s false
Statement I 1s false but Statement II 1s true

L b =

=

Options:

19088929201. 1
19088929202. 2
19088929203. 3

19088929204. 4

Question Number : 107 Question Id : 1908897328 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: In an egalitarian marriage there 1s clear division of husband and wife roles as
economic wellbeing and nurturance of family, respectively.

Statement II: In an egalitarian marriage. power and authority are shared.

In light of the above statements, choose the eorrect answer from the options given below
Both Statement I and Statement II are true

Both Statement I and Statement IT are false

Statement I 15 true but Statement II 15 false
Statement I 1s false but Statement IT 1s true

Bl i

e



Options :

19088929205. 1
19088929206. 2
19088929207. 3
19088929208. 4

Question Number : 108 Question Id : 1908897329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Separation anxiety emerges when the child has formed a clear-cut attachment
with the mother.

Reason R: When there 15 clear-cut attachment with the mother. the child 15 able to move
away from the mother to explore the environment

In light of the above statements. choose the correct answer from the options given below

Both A and R are true and R 1s the correct explanation of A
Both A and R are true but R 15 NOT the correct explanation of A
A s true but R 1s false

A is false but R 1s true

2 —

o

Options :

19088929209. 1
19088929210. 2
19088929211. 3
19088929212. 4

Question Number : 109 Question Id : 1908897330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Gtven below are two statements

Statement I: Checked/striped towels in plain weave or Turkish towels make equally good
bathing towels.

Statement IT: Both have loops which are reasonably close together but not too tightly twisted
together.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

| R ——

e

Options :

19088929213. 1
19088929214. 2
19088929215. 3

19088929216. 4

Question Number : 110 Question Id : 1908897331 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: While washing a silk saree, the last rinse should always be in cold water.
Reason R: Last rinse in cold water given the necessary shine to silk.

In light of the above statements. choose the correct answer from the options given below
Both A and R are true and R 1s the correct explanation of A

Both A and R are true but R is NOT the correct explanation of A

A 1s true but R 1s false
A 1s false but R 1s true

b
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Options :
19088929217. 1
19088929218. 2



19088929219. 3

19088929220. 4

Question Number : 111 Question Id : 1908897332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Most intrinsic values rank higher than instrumental values.

Statement II: Normative values rank higher than some but not all descriptive (factual)
values.

In light of the above statements, choose the meost appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
. Statement I 1s correct but Statement II 1s incorrect

bl

3
4. Statement I 1s incorrect but Statement I 1s correct
Options :
19088929221. 1
19088929222. 2
19088929223. 3

19088929224. 4

Question Number : 112 Question Id : 1908897333 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: Accessories are the elements that add charm. individuality & vitality to a room.
Statement II: Accessories may be changed or replaced occasionally to provide variety.

In light of the above statements, choose the correct answer from the options given below
Both Statement I and Statement IT are true

Both Statement I and Statement II are false

Statement I 1s true but Statement I1 1s false
Statement I 1s false but Statement II 15 true

|

e Laa

Options :

19088929225. 1
19088929226. 2
19088929227. 3

19088929228. 4

Question Number : 113 Question Id : 1908897334 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Delaying the age at marriage for girls has a positive impact on their fertility and
reproductive rights.

Statement II: Delayed marriage help to inerease the overall mortality rates of women and
infants.

In light of the above statements, choose the eorrect answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT 1s false
4. Statement I 1s false but Statement II 15 true

|

Options:

19088929229. 1
19088929230. 2
19088929231. 3
19088929232. 4



Question Number : 114 Question Id : 1908897335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: The basic principle of community development and community organisation 1s
creating discontent with existing conditions and standard of living.

Reason R: Discontent must be focused and channelled into organisation of the communities.
In light of the above statements. choose the correet answer from the options given below
Both A and R are true and R 1s the correct explanation of A

Both A and R are true but R 1s NOT the correct explanation of A

3. Ais true but R 1s false
4. A s false but R 1s true

b

Options :

19088929233. 1
19088929234. 2
19088929235. 3
19088929236. 4

Question Number : 115 Question Id : 1908897336 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange in order the river systems based on the highest catchment area to lowest catchment
area.

A. Ganga-Brahmaputra Meghana system

B. Mahanadi

C. Krishna

D. Indus

Choose the correet answer from the options given below
ARCD

C.A.B.D

D,A C.B
ADC.B

N N o

Options:

19088929237. 1
19088929238. 2
19088929239. 3
19088929240. 4

Question Number : 116 Question Id : 1908897337 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below 15 the Glycemic Index (GI) of some commonly used foods m the Indian diet.
Arrange them in the correct sequence based on inereasing GI Index.

A, Skimmed Milk

B. Comnflakes

C. Whole Wheat Bread
D. Pneapple

E. French Fries

F. Soya Bean

Choose the correct answer from the options given below

1. EEC,A,B.E,D

2. F,ADECDBH

3 BDECEA

4. C;B,E,D AT
Options :

19088929241. 1
19088929242. 2
19088929243. 3

19088929244. 4

Question Number : 117 Question Id : 1908897338 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sequence the following stages of psychosexual development in the order in which they
emerge

A. Genital stage
B. Oral stage

C. Latency stage
D. Anal stage

E. Phallic stage

Choose the correct answer from the options given below

1. A€, D;E B
2 CERAD
3. DB.EAE
4. B DB AA
Options :

19088929245. 1
19088929246. 2
19088929247. 3

19088929248. 4

Question Number : 118 Question Id : 1908897339 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Give the correct sequence of manufacturing viscose rayon.
A Agemng

B. Xanthating

C. Shredding

D. Steeping

E. Filtering

F. Dissolving

G. Spinning

Choose the correct answer from the options given below

i ARG D Eah
2. EAB DB G F
3., DLEA B F.E G
4 CIEAEFGH
Options :
19088929249. 1

19088929250. 2
19088929251. 3
19088929252. 4

Question Number : 119 Question Id : 1908897340 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps in building construction in order of sequence:
A. Construction of Floor

B. Foundation

C. Site Selection

D. Floor Plan

E. Construction of Roof

F. Construction of Walls

Choose the correct answer from the options given below

1. B.C,A,D.F,E

2. DA B F.E

3. D B.EEA

4. A.C.B.E.EF.D
Options :

19088929253. 1
19088929254. 2
19088929255. 3

19088929256. 4

Question Number : 120 Question Id : 1908897341 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the following in sequential order of stages of listening
A. Recetving

B. Evaluating

C. Remembering

D. Understanding

E. Responding

Choose the correct answer from the options given below

1. AB.C D E

2. ADCBE

3 A BE R

1. A CRE; D
Options :

19088929257. 1
19088929258. 2
19088929259. 3

19088929260. 4



